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The figures in tlrc margin indicate full marks

for the questions

Answer either in English or in Assan:ese

1. Answer/Choose the correct answer of the
following : lx 10=10

ffiRscEtsr b-sq frqt^gq C-g-{ <TR OR.e<t :

(a) In laissez-faire State, the functions of
governments were confined to which
activities?

<lffi <tEio E-{sTfi Rl{-s'rq crffc<t{ c$Ee

ftfio qRE z

r4A--2O* 1L374 ( Turn Ouer )



t2)

In which year the Public Service
Commission was set up in India?

sFrEs cqrc-cq-$ qtcil't ft${ 5-{q flb{ s-{t

?€qt

Who is the author of the book, Essag in
Sociologg ?

-Essay in Sociology {q-q 3fqfi-{ qDAEt

CSI;I ?

(d) The term 'bureaucracy' has been
derived from which French word?

TqA gl{Ft c<Fl+ch .lq{ 'lllt 'q-6q1flsE'

w.e?rq bs< t<qr

(e) "Budget is a linancial plan of the
government for a definite period."
Whose definition is this?

'?rcqb eqcq fifie qq{"< TFrc.f D-{-src{ sqs s-{t

fi€T afIFR r",leqiw.ffi q;q r

A Who, in India, is the Head of the
Department of Audit and Accounts?

sr<gs Run tftwt qrc RDT'I {sq R-stflT T{€
Cfl;[?

{3}

(g) "The management of finance is one of
the first and inescapable responsibility
of administrators." This was said by

' White / Willoughby / Wilson.

'6exflrfffi g{T qrs .qrK 6{<r$ nRq t<q fis
R\T< sqm{t-l GIKI r" q?, nqKK hffiq

cqr-{Rzb / g?q'frq / 0?EDC-{ |

(U The word Budget was first used in
England / America / France.

<trut -nqeh aEcq <r+qm ?q&fl liqs\o /
qKTR-flo / F[qe I

(L) Whether 'accountability'is an essential
prerequisite of good governance?

'q1ss69' {-s'trFt{ ,sh qtr azilqR{ "1{u6
q{fi ?

(j) The Administrative Reforms
Commission was set up in 1966 under
the Chairmanship of Nehru / Desai /
Kamath.

1966 E{s d{ $3I fiI{aT ri-TFr qrcil5l{

{sT"rB qrfte c{-W / cqTR / omt I

(b)

(c)
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cwi$-sT ftGr frfrs fr$ ffitatr{ Kbt qrcflr<Tq

Brg.<t +-ql r

(c) Write two arguments against spoils

system.

fi 13srE <FRF[ Rflrv Fr tfu ftm ,

(d) Mention two evils of Indian

bureaucracy.

st"[r{ \m6flqrq{ F qztlmq Senq +q r

(e) Distinguish between single budget and

plural budget.

er6e-q frcf{ T-{t--qs-s qeqt qK qq {-6qb r

{s}

3. Write short notes on atty four |rorr. the

following : 5x4=2A

ffiRsr<KT fr corcq DrRfiT '€'Fis DT 6rEr fr3T ,

(a) Control by the people on administration

$xtFtd-{ s'Fs q-fiTrf{qq fivqq

(b) Advantages of indirect recruitment

ercfftr 3rc-T'r+r rRnq-{q

(c) Habeas corpus

<ft G"ra"rq

(d) Lokpal in India

sFtEs c{rslFl

(e) RTI Act and good governance

nrl qRn \ql+ 1-a'm{

4. Answer any four questions from the

following : 1Ox4=4O

\5qE fr 6q616ffi eff{ b-s{ fr$ :

(a) What is budget? Discuss the principles
of budgeting.

{rqt ft r <trqb g.Fn qq.feK AfrqTq qr.qrFrt

s-$ I
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Answer the following questions :

vffi flTr{q{ cE{ fr'{I .

(a) Mention two objectives of training.

aFqr< Kh Ozn$ Grs{ T-{T r

(b) Mention two disadvantages

promotion by seniority principle.

2x5=1O

of
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(b) Evaluate the promotion system followed
in India.

sFtse w{T{6t T<I aGIF-{ "mfrq {-qIT{ Sqf I

(c) Discuss the importance of Civil Service

in modern State.

qT{fr-s <t$e qrTqR"s cl:ilR sqq ft, q6-4g641 !

F{l I

(d) Distinguish between :

srcsq frqh T3r .

(t) Auditing and Accounting

Rilt qpq q+ Rur"t "rRqr

(ii) Yearty Budget and Long-term
Budget

<ttrr {zqt \Trc nffi <Teqt

(e) Discuss the parliamentary control over

Public Administration.

CEFF $.tpFt-{ \e,t?ts {(fiT fircm fi{C{
qIrEID;fi $-fl I
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l7)

A Discuss the scope of Development

Administration.

fr-fir ffiTfi 4frl-q q-6-a16a p-$ I

***
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